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,\..‘Ttme Three HOurs & ,'f.'ff':'f 3

EUe Answer ALL Questlons R A U
ALL questrons carry EQUAL marks (5 X l = 5) e

. -‘"The earbene whlch adds stereo spemﬁcally.to a double_bond is m the -J
S (a). Smglet 7 (b) Triplet =
R (c) Doublet (d) Free radlcal

2 Oppenauer 0x1datlon is the reverse process of G T
(ay Wolff-Klshner reductlon ~(b) Rosemund reduetlon Al
(©) ¢ Clemmensen reduetlon (d) MPV reductron ;_ P

3 _'Hydroboratlon follows Sl RIS S S
. (a) Regioselectivity (b) Markowmkoft’s rule e e T e
L "(C) Antl-Markowmkoff s rule ‘ (d) Reg1oselect1v1ty and antl-MarkowmkofP S ruler R

4, 3 dlthlane 1s an example of SRR B TR A T
L (a)y Synthon - .' (b) Synthetle equlvalent - RN AR T
@), Umpolung eryal (d) Target unit . v L :

LTSy "Whlch reagent wrll yleld c1s—1 2 cyclopentanedlol from cyclopentene‘? e e
- (c) DCC -1}»"; ;b | (d) DDQ e AR AR e T el T

: ‘SECTION
o Answer ALL Questlons T e e T e
ALL Questlons Carry EQUAL Marks ‘(5“5&*3 -—.‘~-'l 5‘)’

o

oy ‘}6,,v_",:(a) Chlorobenzene is: far less reaetwe than amhne 1n electrophrllc substltuuon - " s e
- T although chlorme and nltrogen have almost the sam‘e electronegatrvrty Explam S
T q')j,.‘(b) Why CHCl3 1s more reactlve than CHF3 in Sl:l reactxon‘7 Explam »5 f‘:{ ’5:',

S 7 (a) Drstmgulsh between Hofmann and Saytzeff’ s ehmmatrons |
DS o (OR) S
s (b) Compare E.and E CB reactrons '

A vdi»)g.}‘}(a) What 1s Manmch reactlon‘? Explam 1ts meehamsm o
R '.'(b) What 1s Wrttlg reactron" Explam 1ts synthetle appllcatlon W1th examples

R 9 ;ﬁ(a) What are synthetlc equ1valents‘7 How do they dlffer from synthon‘7 Mentlon the

PR syntheuc 1mportanee of both of them : T L

R R R (OR) ERRES
| ;_'(b) LlSt out the 1mportance of order ofevents f RIRE R




advantages

(OR)

d synthetlc apphcatxons

SECTION -C (30 Marﬁ_)
'  Answer ALL questrons A : :
ALL questlons carry EQUAL Marks (5 X 6 30)

S ;1 1 (a) (1) How would you effect the followmg transformatmn" Explam 1ts L

o _" ';_ mechamsm

. (OR) : ' :
(b) (1) What are carbenes" How are they generated" Explam 1ts synthetlc

, apphcatlons with examples T S (3)"v,.
(n) What is, Kolbe s reactlon‘7 lee 1ts mechamsm R __,__":‘1(3) -

12 (a) (1) What are the condttrons that favour EICB mechanlsm in an ehmmatlon L e
“reaction? Hlustrate with'an example. . Gy
(n) LlSt any three synthetlc ut1ht1es of SeO,. ~ - '::'f L S 1 (3)_-5 | L

~(OR).

(b)r(l) In Ez reactron a threo fonn glves trans-alkene whrle an erythro form glves a _' S

- cis-olefin. Comment with suitable reasons. - - f e 3)
(n) State and explam Bredt’s rule o ;., ; % (3)

(OR) .

(b) (1) How would you prepare cinnamic acid from benzaldehyde? Identlfy th1s
2 " name reactlon«' lee 1ts rnechamstlc pathwayS '; DR @By

" ‘1scﬁ'1>‘0'5‘i
Cont .

T

(b) What are crown ethers‘7 Why are they $0. called‘? Mentlon 1ts charactenstlcs f::

G Phenol——»Sahcyllcaldehyde 1'-_,.{ .(3)‘: i
(n) Dlstmgursh between SE' and SE reactions. -, . f R R _'(3;).-_. S

S 13 (a) (1) Predlct a method for the preparatlon of crotomaldehyde from acetaldehyde - o
P and also suggest its mechanism. = - U S E) I
(11) What is benzom condensatlon‘7 Explam 1ts mechamsm (3) e el

| (u) What is Stobbe condensatton? Explam its synthettc utlhtles (3). S

o = 14 (a) erte any two functlonal group 1nterconver31ons 1nvolvmg —-CHO
L C—-O COOH and alkene from n-butane i BN
“(OR)

(b) (1) leferentlate between chemo select1v1ty, reg10-select1v1ty andv i _
stereo- select1v1ty f‘ _\ .'.(3)-,“ . S
(n) Name the protectlng group for —CHO —OH and —-NH2 groups 3 ORI

R \_13 (a) P1ck out the sultable reagent(S) for the followmg transformatlons:'- )

() Cyclohexene ‘> Hexanediol (Ozone) L T T (2) |
(i) Iodobenzene. —» Toluene (Gilman’ sReagent) e 2y SRR
(m) Butyl bromrde — n-Butane (LAH) Sl { S (2)_f R

(OR) e .
(b) Identlfy the surtable reagent(s) for the followmg transformatlons': L
(i) B- Hydroxy ester — a,B~Unsaturated ester (DCC) PRI (2)

(i) Tetmlin > Naphthalene®DQ) > .
(m) Acetamlde ——;Ethylamme (LAH) ‘pj “ 08 3(2)_{‘ L




